比較級・最上級の練習問題
１．次の文の(　　)内の語を適する形にかえてください。かえる必要のないものはそのまま書いてください。
(1) Ken is (tall) than Taka.

(2) This question is the (easy) of all.

(3) She walked (slowly) than I.

(4) Ken is as (tall) as Taka.

(5) This flower is the (beautiful) of the three.

(6) Ken runs the (fast) in my class.
 




 


[bookmark: _GoBack]解答
(1) taller　(2) easiest　(3) more slowly　(4) tall　(5) most beautiful　(6) fastest
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(1) Ken is (tall) than Taka.


 


 


(2) This question is the (easy) of all.


 


 


(3) She walked (slowly) than I.


 


 


(4) Ken is as (tall) as Taka.


 


 


(5) This flower is the (beautiful) 


of the three.


 


 


(6) Ken runs the (fast) in my class
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